AR (ELR)
IWFE, #HR/E

50Hz

BT =

AIE1 (BEER S0NVIHEX)  XRRERAREE, BEuSEIINF-RERERESESHEE A
X5 ==Fiv BlEHEM (FhA)

EXBE LBRER 30A 1MMRICDE 935.25H

BT 40A 1hACDO= 1,247.00M
e DB 50A 1HACO= 1,558.75M
5357521 ZER 60A 1hBICO= 1,870.50

EHENE | 1~120kWhET | 1kWhlco= 29.80M
121~300kWh=T | 1kWhiCDO= 36.404
301KWhELE 1kWhiCDO= 40.49M

X5 | EH{i] RlIEEM (FhA)

=ARS 198 - LKVAICO= 311.75M

H$53E5T5>2 [BHENE | 1~120kWhEC | LkWhlcO= 29.80M
121~300kWh=T | 1kWhicDO= 36.40M

301KWhELE 1KWhicDO= 40.49M

X5 ==tV BlIEEM (FhA)

EARE | 2B 3KW 1 AIC D= 1,170.54M
BT 4 KW 1HABICD= 1,560.72M
BT 5 kW 1HAIC D= 1,950.90M

S KBS 6 KW LHACO= 2,341.08M
EUISIET =2 B 7 KWELE -

ZEHERZE | 1~120kWhET | 1KWhicO= 29.80M
121~300kWhZE T | 1kWhiCDO= 36.40M
301~500kWh¥*E T | 1kWhlcO= 40.49M
501KWhELE 1kWhicD= 37.990

X5 ==Ly RlEEM (BiA)

EARS DYAE 3kVA | LD ABCO= 935.25M4
DHARE 4KVA | LD ACO= 1,247.00M
DYAE SKVA | LHACO= 1,558.75MH

555550075 DYAE 6KkVA | LD ACO= 1,870.50M
]IS 7 kVALLE _

BEHERNZE | 1~500kWhECT | LKWhicO= 36.45M

501KWhELE 1kWhiCD= 37.99H
%1 1KVACO=
B2 (1 5BHBEODIBIFESLOATS 3> 25 S0NLYIIR) %2 1kWICO=
B55T51 30A 40A 50A 60A |B>BT5>2%
IS5 A8 BET 5> | 3KkW 4 KW 5 kW 6 KW | BUIETS TRWLLE 2
555550075 | 3 KVA 4 KVA 5 KVA 6KVA | 3555075 T 1
TwRCT—ol2 | A 42.90/ | A 114.40M | A 178.75M | A 257.40/| A 42.90M
23| BT R A 42.90/M| A57.20M| A 71.50M| A85.808| A 14.300
S [ EoaE A 42901 A57.20M| A 71.508| A85.80M| A 14.30M
ATZ22 T & LE A 42.90M| A57.20M| A71.50M| A85.80M| A 14.300
(Br) BEGE A 42 90| A57.20M| A71.50M| A 85.80M A 14.300
0JU-ThEI175A| 211.20M| 281.60M| 352.00M| 422.40M 70.40M

(TERFIE) - BITRE|EF o LBIIMHBTEREA.
(2024. 6. 1hR)



